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8.3 Classifica tion of Arch:
A) Based on Architectural Paint of View -
1) Parabolic
2) Circular
3) EHJ'pL‘I‘Ca!
4) Any other Shape.
g) pased on Struckural Design Point ©
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3) Frxed Arch

F View -

3’4 hinge

Ds1=0 nEI= 1 DST=3



8.4 Bending Moment in Arch.
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el rnear/ Theoretical / Funicular Arch!
IF bending moment s z€ro tha eghout a!a;ﬁf—f)p span theo
arch s called as /inear/ Funicelar arch. Shapeofthis arch is
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a.52 Normal /Axicd Thrust and Radial Shear:
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8.5:3 Circular 3-Hinged Arch:
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At B=30° and 150" gn =—wWR?

8.54 Effectof Temperature of 3-Ha‘09<=d Arch:-
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855 ITLD of S-Hmjed Arch -
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For MD'.—
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8.6 “Two - Hrnged Arch:-
8.6.1 Exrp iession of Horizontal ThrysSt.-
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A n H-.S‘ymmet'r;‘ccz/ Steuctyre -
IF q struckure is symmetrical and loading one oN€
half is j‘usb opposit to mirrar fmage of other half.

;g

-

|

f

f 77

|
“ axrs of sy mmefty
Unsym metrical Structure:-

IF loading or shruckure or both are unsgmmebn‘ca!

¢ Note -
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